nkle sand &i the wooden surface
werc asked to arrange forces due

mnsardcr. Thl‘:ll' arran gements are given
below. Choose the correct arrangements.

a Rolling, static, sliding

b Rolling, sliding, static

¢ Static, sliding, rolling

- d Sliding, static, rolling (;:

H‘l! ey

4. You must have observed a cow ploughing th I%E
field. A cow struggles in its first few step to

pull a plough. Why is it s0? \T
riction

a Static friction is greater tha @
b Sliding friction is @ lhng friction
' the cart is in

¢ No frictional force acts after
motion .

d Air friction is ; er during the first few
steps of motm&“

have a streamlined shaped
i figure below) because

=it

¢ None of them
d Both (a) and (b)

8. Roller—skating is the travelling on surfaces
with roller—skates. It is a form of sport and
can also be a form of transportation.

Why do we move faster on roller-skates than
on shoes?
a The roller-skates have rollers to reduce
friction.
b The roller-skates have more surface in
contact with ground.
¢ The roller-skates have no gravitational
force.

d The roller-skates absorb heat from the
ground.

9. We need energy to overcome friction. Durin;

friction, unwanted heat energy is produced.
Friction can be reduced by the use of _

I. Rollers II. Gears
IIL. Lubricants IV. Ball bearings
a I, Il and I bIMandlV






